Summenterme multiplizieren
Aufgaben und Lésungen zum Video auf www.mathe-video.com

(a+b)(c+d)=a-c+a-d+b-c+b-d
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1. Multipliziere aus:
Aufgabe Losung
a) (4+x)(7+¥) Xv+7x+4y+28
b) (2-x09-»
c) (3x—2)(-5x-3)
d) (—x+0.5) (x - 6 y7)
X g
e) [—:}Jrr)ux—l)
2 a 2
0| (Freed)(--3)
2. Vereinfache so weit wie moglich:
Aufgabe Ldsung
a) (l+2x4+3y)i—-x-2) —2x*-3xy-5x-6y-2
b) (-5-3x+4y)(-x+4
c) (Bx+4y)(-x+4+x°
d) (-5 +x) (-8 +2x+5x7)
5 INES
- I =-1
) [r 4“4](2 ]
3. Vereinfache so weit wie moglich:
Aufgabe Losung
a) (1+x)(7-x*)+x(2-3y) —x* —x* —3xy+9x+7
b) |(|-2-x")(2-3x")-x(2x-5)
c) (1-4x)(1-4x)-5(8x—x")
d) —([1+x*){3x—8x7))
e) —2{[-4+2x7)(9+4x)
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1. Multipliziere aus:
Aufgabe Ldsung
a) (4+x)(7+ ¥) Xy+7x+4y+28
b) (2-x)09-» Xxy—-9x—2y+18
c) (3x—-2)(-5x-13) —15x° +x+6
d) (—x+0.5) [x — 6 y7) P +6xy* +05x— 3.y
X . 5x° «x
e —T X x-1) x - + =
) (4 ) 4 4
2 . 2 10x" 4x
—x+4r][—x——] L
) [3 3 4 3 9
2. Vereinfache so weit wie moglich:
Aufgabe Ldsung
a) (l+2x4+3y)i—-x-2) —2x*-3xy-5x-6y-2
b) (-5-3x+4¥)(-x+4) 3x° —4xy-T7x+16y—20
c) (3x+4y) (-x+4+x7) 3xt+4x° y-3x  —4xy+12x+ 16y
d) (-5 +x) (-8 +2x+5x7) Sxt r2x® —33x% — 10x +40
. 1 3 5 3 ,
e) [r—4x+—](x——l] x——2x4+x——r+4x—i
4/ 2 2 8 4
3. Vereinfache so weit wie moglich:
Aufgabe Ldsung
a) (1+x)(7-x")+x(2-3y) —xt X —3xy+9x+7
b) | (-2-x*)(2-3x")-x(2x-5) 3xt+2x" +5x-4
c) | (1-4x*)(1-4x)-5(8x-x%) 16x* —4x° +5x% —44x+1
d) —([1+x%) (3x—8x7)) 8x" +5x° - 3x
e) ~2{[-4+227) (9 +4x) —16x —36x% +32x4+ 72
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